



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{12}{5} + 2\right) \div 6 =$$

$$\left(\frac{38}{5} + \frac{29}{5}\right) \div 2 =$$

$$(3 + 5.1) \times 5.5 =$$

$$3\left(3.4 - \frac{1}{2}\right) =$$

$$2\left(\frac{1}{2} - \frac{1}{2}\right) =$$

$$3\left(\frac{3}{5} - 2.6\right) =$$

$$3\left(\frac{1}{3} - \frac{1}{2}\right) =$$

$$\left(2 + \frac{68}{5}\right) \div 4 =$$

$$\left(\frac{21}{2} - \frac{189}{10}\right) \div 7 =$$

$$(4 - 5.9) \times 3.4 =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{12}{5} + 2\right) \div 6 = \frac{11}{15}$$

$$\left(\frac{38}{5} + \frac{29}{5}\right) \div 2 = \frac{67}{10}$$

$$(3 + 5.1) \times 5.5 = \frac{891}{20}$$

$$3\left(3.4 - \frac{1}{2}\right) = \frac{87}{10}$$

$$2\left(\frac{1}{2} - \frac{1}{2}\right) = 0$$

$$3\left(\frac{3}{5} - 2.6\right) = (-6)$$

$$3\left(\frac{1}{3} - \frac{1}{2}\right) = \left(-\frac{1}{2}\right)$$

$$\left(2 + \frac{68}{5}\right) \div 4 = \frac{39}{10}$$

$$\left(\frac{21}{2} - \frac{189}{10}\right) \div 7 = \left(-\frac{6}{5}\right)$$

$$(4 - 5.9) \times 3.4 = \left(-\frac{323}{50}\right)$$